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=1 = IET RS 100 [k 205 35 5,150 400 27
[HoE] bid HILEHH® 805.2 Rk 134 1H 1,865 - 298
A 2] BB EARE 37.3 [BBF0 604 3K 61 4 2
KLt K _E R RHRERA 23 [FE 135 3F 276 81 10
KB 1 B L hojse 1l FimE BT 1.9 [FAF1 305 95 150 - 48
M TKER K2 B L hojse 1l FRE BT 6.4 [BBF0 364 9F 130 - 77
IM_BE MR RHEEHRAL 20.8 [k 165 10F 1,930 320 50
RS BRI EE Wil 6.2 [T 175 12F 19,418 440 42
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BRI EC3EAI] B = LR 2O EER 42 [Fpk 12% 108 1,636 236 26
S REF]I REF AR KER 86.1 [FAF0 40%F 3F 10,100 1,350 1,137
BRE— 5 B HiREtER 59.1 [BBF0 374 108 923 242 741
EHE FH = JLBEE S 1744 |FR_ 125 12F 14 - 5
®B A3 351 FRECER 28 [BBF0_43%F 11F 86 18 30
EXE] =@ = iR+ AER 1745 |FR_ 145 3F 125,500 17,500 879
FE TS =) BB B R MKER 40.7 [FRk 155 11F 10,320 1,020 90
1B B % B B )1 BANEIHRAH 438.0 |ARF] 104 12F 1,437 942 907
E# B % B D] ERI il 6264.0 [FAF] 3% 115 16,525 - 6,696
i3 B % B HERJI EFGEA) 1978.8 [RBF0 364 115 27,000 7,950 10,043
2% Be 2 B BRI %8 711 RILBHE 6048.0 [FAF] 44 118 18,667 - 5,181
I Be % By (D= RILBHE 5717.0 [FR%0 14%F 7R 22,720 - 5,384
LR B % B i RILBHE 5867.0 [FAF1 334 8H 12,370 - 2,548
] Be % By RR RILBHE 2402.0 [FRF] 294 8H 20,500 - 4517
=F B 2 By RR RILBHE 2467.0 [FRF0 214 127 20,500 - 4,310
EX Be % By RR RILBHE 2142.0 [FRF0 29%F 6H 25,769 - 5,290
oz Be % By QR RILBHE 2700.0 [FRF0 284 8H 24,309 - 4,969
LLI%ER B % B D] HILEHE 5727.0 [FRF0 184 2R 7,591 - 936
B B % B B 2+ AER 83.2 |ARFN 554 3K 14,900 3,400 1,544
RiFIk B % B S G311 EIRGFE 17.4 |BBF] 43%F 11F 1,825 280 322
x5 B % B HEJI EIRG R 542.9 |BBF0 384 108 15,800 - 2,128
=) T S =) BB B R HKER 409 [BBF0 374 3AH 2,325 73 79
Pl B % B D E+ 3B E LS RS 825.6 |ARFN 634 3H 57,500 13,000 3,902
il B % B HR ERI il 2765.0 [FAF0 284 8H 16,172 1,405
EYR BT 55 QR EIRBAFE 4256 |ABF0 355 38 601,000 - 16,046
[HFE BT 55 QR EIRBAFE 702.3 [BBF] 344 3A 494,000 20,000 -7,501
] B % B )l EEEL AL 405 [ABF0 58% 3K 12,500 1,000 183
EL % #4) EEEL AL 406 Rk 4% 3H 24,600 1,500 146
AR B % B AR EIRGFE 742.2 |ER 145 4H 4,500 279 256
A B % B N EFGEA) 3.7 [BBF0 63%F 4F 18,500 82 153
EI B % B B2 BF )11 HILEHE 6728.0 [FAF] 384 47 13,748 - -1,692
Z % S EBH BB B R HOKEE 155 [FA%1 454 35 845 18 19
5] S &5 BEELAH 48 [FRk 115 38 523 72 17
RER [DFL5] KR HELETHEER 44 | 5% 18 720 88 0
II\E #5187 5l BB ARE 128 R 5% 35 3,050 350 58
BIEAK hnE RN iR+ AER 88.0 [ABF0 50% 3K 22,500 4,500 1,713
WD% hnE RO R iR AEP 475 [BBF0 49%F 3B 24,800 2,600 1,058
A1 il A1 iR+ AEP 125 |k 15%F  3F 5,000 900 41
Al Al Al EMEEF R 16.2 |BBF] 544 3F 1,550 400 146
| A i I I iRR 2 ih i 55.8 [FBF1 544 3A 10,600 1,400 1,632
EZd AR AR tEm 2.2 [BBF0 554 10F 1,334 131 3
1Rz 7T FElll HEEM 736.8 [ABF] 29% 9A 2,078 805 1,551
E=Ei) Ft Fll HESH 766.0 |BRFD 374 28 5875 - 1,930
B Ft XA HEMSEERS 69.8 |[ARF0 53%F 8K 22,800 5,000 1,212
FHEE— E AT KR =1 43 |[FR 3% 57 1,220 170 18
ERi EFF #id =1 16.0 |ARF] 344 35 1,409 - 0
KEII E AT X% *B 8.2 [BAF0 54% 3F 1,390 300 99
B 28 X8 15 R 105 95 325 125 -10
FEA 28 28 Eliy: ﬁ:itﬂiﬁ??%f‘% 617.5 [FFpk 134 3H 24,700 12,000 6,362
i EXED EXED EEEE 1845 [FBF0 354 108 199,285 24,969 23,640
NEF EXD EXD BIFE S SR 404.8 |1 114 9F 2,122 1,878 1,967
HLTE EXD EXD BIFE S SR 461.2 |BBF] 604 9F 9,010 7,304 4,468
A S EXD EXD BI7E S SR 284.1 |BBFD 15% 118 682 370 617
E[3 28 2 JLREE SR 400 [FBF0 614 108 770 515 362
LI El LI AIEEARE 345 [BBF0 50% 38 9,500 1,400 445
E E E BB ARE 56.1 [ABF0 414 35 14,300 2,350 1,443
E=E=] [ 2= [ 2= FBETKE 46.0 [FBF0 49% 3R 6,000 900 1,311
=A = =A FRELER 88.6 [ABF0 314 127 11,740 5,400 1,618
= = = 2+ AER 305.7 |RRFN 28% 61 47,800 6,300 5,940
WIIE= FI EAal JLREE HE 675 |RBF0 544 31 4,430 700 781
IIIE= FI FI JLREE SR 7.2 [BBF0 54%F 7F 2,120 200 196
F FI F E+ 3B E A E S BED 2472 |BRF0 54%F 68 231,000 20,000 6,421
PNz FI PN AR (EAER., B HKEL) 56.5 [EBF0 434 117 27,200 3,300 648
P FH R JLREE SR 135 [FBF1 106 95 12 - 4
EHE/MI NI NI EMEEF 283 | 24 118 5,280 1,700 437
TIF| INEER INEERI = LR B MOk EER 45.9 |BBF0 424 97 31,400 2,600 1,980
FHRII INEED TR [CE N 31.8 [HBF0 544 3AH 6,600 600 244
Wil NEER IS T RER 108 [FR 4% 8K 3,000 600 224
=L INEED TE K EEER 135 [Fp 5% 35 6,950 880 231
AfL INEER FiE 2 B2 FROKEEED 138 [ 4% 108 8,800 700 114
AE NEER NEERNI ELEAER 48.2 |RRF0 40%F 8K 352 13 119
B & FIEN BEFEE HE 92.3 [FBF0 184 11H 1,113 131 883
/MR E I BIFEE SR 8145 |BRF 174 118 11,741 2,195 7.609
AL E EJI BIFE S SR 9294 |BBF0 5% 108 33,850 19,139 16,863
FEI E R EMEEF R 38.0 [ABF0 50% 3K 2,700 1,350 1,289
oA E E BA7EE SR 723.0 |BBFD 26% 118 9,709 3,639 3,655
B E E BA7EE SR 580.0 |ARF0 314 108 33,539 22,130 9,525
M E E BIFE S SR 11000 [BEFD 5% 9F 37,957 7,445 10,787
BR E El BA7EE SR 665.7 |ARF0 284 128 22274 13,138 4,379
AES E == EFGEEA) 5.2 [BBF0 465 11F 765 56 87
pN=1111 E pN=1111 EIRG 20.1 [RBF0 38% 128 14,200 3,339 2,153
FEI E A = L2+ KEp 340 [RBF0 43%F 38 3,070 750 314
[EISES & J£3 EIRBAFE 395.7 [ABF] 36%F 1A 365,780 6,700 11,242
51 E 5 = 1LE KA 37.7 | 6% 3H 59,900 3,800 1,118
KE E E BIFE S SR 778.1 |BBF0 53%F 9B 1,465 152 -7
EN&EQ E E BA7EE SR 11130 [FBF0 14% 128 626 67 -83
| 3R & FE BEFEE HE 66.2 [FBF0 484 11H 308 35 124
£l LIl i =R+ KE 447 BB 40%F 3H 4,850 1,350 1,220
|EmIEE2 £l t =R+ A 38.7 [HBF0 614 3AH 7,800 3,100 1,740
RE HEPAF =] JLEEE HE 36.6 [FBF1 354 11H8 920 236 302
Exv] HhEF ESEwalll JLBEE SR BRF] 4% 4F 26 - 5
(FrchiB ERAF FE JLpEE SR 79.6 [FBF0 344 8H 171 63 121
=TT} ERAF ] JLpEE SR 31.1 [ABF0 55% 128 2,780 1,222 384
$hAE ERAF N :.Bﬁ%ﬁmﬁ 6.8 [FAF] 64 117 8,907 28 134
HiE HhEF FNH JLBEE H 499 [BBF0 37%F 58 223,000 4,100 1,438
1] piall] 1)l Eixﬁﬁitﬂéﬁﬁ%f‘% 1131 [FR 205 3F 24,600 5,500 182
Rith BB Riu)ll RHRERA 25 [ER 165 7F 523 126 6
EZA11] EZA11] FinE L AE 40 R 9% 3H 297 28 18
22X 22X RILBHE 1180 [FBF0 2% 2R 1,454 - 1,302
%] [0 HILEHE 373.0 [BBFD 164 55 1,857 - 1,266
EXid HEIE REHRER 65.0 [BBF0 554 3AH 5,400 2,100 2,537
1L 1L RHREHRA 250.0 [EBF0 45% 3AH 15,000 5,000 4,674
B B HREH® 131.0 [BBF0 534 12F 76,200 37,400 20,400
ER ER EAT 14.0 |BBF] 484 3F 1,050 180 174
sl )l RHREHRA 147.2 [BBF0 544 37 3,400 700 837
FIE I HREH® 380.5 [FAFN 444 3A 123,000 43,000 12,317
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B ECIII] EHELER 32.2 |HBF0 434 118 3,451 209 325
= ) EFGEA) 107.8 [FBF0 524 67 18,300 6,468 1,386
Tt #2)I EE Wl 13.9 |BBF] 434 12F 10,700 1,208 746
=S A EHRERA 13.0 |BBF] 584 3F 2,200 400 109
ESIER X BRI 106.1 [FBF0 324 127 42,845 - 1,559
PUE =] PUE:: ] 2+ AER 240 [BBF0 56% 31 4,450 300 265
tB B EE Wil 19.0 |BBF] 534 12F 32,500 5,400 1,281
ESIIER 22X EFGEA) 83.8 [ABFN 384 118 60,000 - 3,968
ZRHF ZERHFI RHEERA 46.0 [BF0 584 3AH 8,000 1,600 326
KB (22101 EC Wl 505 [ARF0 44% 8K 15,100 3,390 362
RL5H A RHEERA 130 [FB%1 614 35 2,000 400 101
AR (0] 2+ KA 59.2 |ARF0 624 31 15,800 2,500 391
R i E Wl 16.6 [FAF] 314 65 27,050 - 161
2 X% RHEERA 131 [FR 7% 35 2,580 460 82
K] EiR FRE 2 A 1.8 [FA%F1 534 95 1,215 21 32
hyy Ayl BIRGFEM 45 [BBF0 524 67 13,500 113 -352
KA B EE Wil 2620.0 [FAF0 184 17 4,248 - -215
Ea B EE Wil 2467.0 [FRF0 324 117 3,032 - -179
N::Ro)] B EE Wil 2787.0 [FRF0 294 8H 2,545 - -285
HEiR B EE Wil 2263.0 [FAF] 394 8H 3,110 - 201
BE B EE Wil 2760.0 [FAF] 294 5A 2,755 - -474
BRE Feh)l EE il 70200 |BBF] 1445 11F 1,546 - -913
= P EUK i)l EEES &3 3] 7841.0 |BBF] 134 11F 970 - -173
/3% FZN]] Pl 425 |80 3% 7H 58 - 9
HIR i HREA® 77.3 |[BBF0  30% 11F 220 - 200
TNBR g HERBEHE 3176 |BRFD 47%F 78 630 48 198
KHEL B E+ 3B E LS RS 1930 [FBF0 614 3 A 33,900 5,000 1,099
2R EdG £ B 3.2 [ 125 3F 388 111 1
A0 =) & 13 | R 125 38 213 27 1
EDE HEIEN ERELER 256.5 |ARFN 44%F 55 330 40 41
Ayl ERB Ayl Wil 18.0 |ABF] 344 5F 104 6 50
RS 58 5] JLEEE H 762.0 [BBF0 394 1A 4,270 2,278 2,700
— 58 58 JLEEE H 1960.0 [FBF0 29% 1F 11,346 2,703 7,187
14— 8 s E] 2060.0 [FAF] 294 25 11,265 2,121 4,458
&R 8 = 1052.5 [ARF0 284 115 4524 569 1,766
Rt R = 1022.9 [FRF0 28% 128 1,839 37 449
EL73 a8 HH 85.2 [FRF0 364 108 17,000 3,500 2,594
R 8 AT 39.8 [ABF0 60%F 3K 9,100 1,500 542
TS fHHE N 161.7 [FBF0 484 3H 123,037 22713 6,989
= fHHE & 2063.0 [FAF1 304 17 1,231 237 -162
Al 8 =) 7245 |BBF0 30%F 18 879 134 241
Pl a8 H#H 65.2 |ARF0 374 28 111 - 61
I\E a8 H#H 92,0 [FA%0 375 5F 300 - 99
EA a8 Fia::] 43.1 |RBF0 34%F 3B 524 - 360
=+ a8 FH 62.6 [FAF0 365 4F 242 - 239
W7 a8 WIS 137.8 [BBF0 29% 1F 174 - 106
EEiae] a8 B 4720 |BBF] 174 4F 331 131 -16
As@ZAEN Il ASRZE ) 58.7 | 14%F 115 10,000 3,100 463
[EF0E A H FE 07 [Fm 1% 108 1,656 7 7
BRREZ Al h 88.3 [ARFN 344 108 2,850 1,070 1,614
vl B B 72.2 |FBF0 524 37 17,100 5,100 2,004
AB REF KEF)| 710 [FR 175 6F 24,900 2,500 147
it =1 BN BN 59 |Fm 1% 3F 3,730 180 124
B/ BRI BRI 3.3 [BBF0 48% 10F 1,575 275 11
bk | 1 1 40.6 [FAF0 54% 3F 6,000 800 209
=E=]1] =E]1] =E=]1] 240 |BBF0 50% 38 2,200 500 457
N7l I\l I\l 104 [Fpk 7% 35 3,130 260 36
)l FEII fi L} 130 ¥R 5% 35 1,350 350 119
AEEB B2 B3 )11 Al 235 |Fpk 4% 3H 1,848 - 51
2N 55 Faadll] 14 |FR 185 38 295 55 5
=1l EEL;] BOJI 1.8 [BBF] 55% 3E 854 54 19
hEHA = B A 16 R 185 35 411 40 3
/NI ERN NE 55.0 [FRk 165 3F 15,100 2,200 61
X5 21 x5 184 [Tk 125 35 12,300 1,000 112
TR TR TR ‘itr;aﬂ(ﬁﬁlﬂﬁ 275 | 145 118 10,500 660 543
HE FERRII FERRII BHME R 3B E AR 1.7 [Fp 15 115 5,100 500 74
R AL BEERII = 50 [FBF0 48% 3F 3,007 150 25
B El KEN-BFHII 40 [BBF0 524 37 16,400 180 106
B7H =H NFEN 80.0 [ABFN 47% 38 23,300 3,600 2,176
=T = = 190.0 [FBF0 424 3H 13,100 5315 3,703
=)l = = 125.6 [FBF0 324 5H 70,500 9,600 4,903
TEIA = ESEN Edsd 7.8 |BBF0 375 3F 71 31 51
H#iH FeAl] Elisc:ﬁﬁEt!*BMﬁ%f‘% 80.9 |[FFpk 3% 97 32,600 3,200 539

W =& Bl TKEREAE () 08 [ 14 97 1,650 32 23
[EEE] AH [EEE] FRE R 3B R AR 17.9 |BRF] 46% 3H 1,252 45 149
T x# St PEED 132.0 [FBF0 104 108 4,950 - 4,819
bN] x# St PERE N 201.6 |BBRFD 134 128 1,519 - 1,361
111 X3 JAREE)I P ERE S0 120 [BBF0_19% 38 1,173 - 757
R x# Nl PERE D 68.0 [ABF0 354 118 6,340 - 3,765
IREEEE— x# Pl PERE D 318.0 |[BRFN 37% 9A 107,400 - 42,301
il X3 FARI P ERE S0 470 | 2% 3H 3,090 2,960 1,357
Eidll] x# x# PERE D 459.3 |ABF] 324 9F 150,000 - 40,904
SR XH TR hERE D 2409 [BBF0 114 108 987 - 820
HRE— x# &R ERE D 9.3 [BBF0 115 10F 72 - 43
&S AH XH BB E RIS EER 5343 |[Fpk 14% 35 78,000 10,000 2,131
HF AR [ x0a EFGEA) 340 [BBF0 36%F 9H 2,141 823 540
E=i- XE E=i- 1 PERE D 8.8 [FAFN 124 12F 305 - 167
Ear XE XE PERE D 3650.0 [FAF] 274 18 42,425 - 35,605
IRE XE XE hERE HiR 2980.0 [FAF1 114 17 10,761 - 8,184
E XE XE EFGEEA) 4490.0 [FAF0 334 7H 34,703 12,377 11,466
{E AR XE XE EIRG 3827.0 [FAF] 324 108 326,848 66,213 119,592
Ea X&E = EHELER 377.4 [HBF0 334 3AH 2,310 780 920
NI XE ENII EFREHEN 60.0 [FBF1 504 3A 7,400 2,000 2,856
N XE % E+ 3@ E it 5 B 288.0 |ARFN 44%F 51 58,000 20,000 15,758
IKE XE K EIRFHFEH 57.6 [BBF0 444 67 29,981 2,500 8,680
=M XE = E+ 3B E Pt 5 B 311.1 [BRFD 34%F 118 29,952 6,586 14,492
Jaic] X&E NI EHRERA 151 Rk 2% 35 1,840 530 400
#aBA XE XEN EFGEA) 4895.0 [FAF] 524 4H 14,578 - 740
R XE KA E+ 3B E Pt 5 B 136.3 [FBF0 484 8H 53,500 5,900 1,362
Hig XE R 7 IS 2 ER AR 382 |FFpk 5% 3H 9,500 1,200 114
[ xXE 1 38.8 [ABF0 624 31 1,860 290 115
AR #RH AR 56.0 [ABF0 59%F 91 12,020 1,680 314
X% 2 FE 85.3 [ARFN 364 61 1,096 436 366
FE 2 FiE 26.3 [BBF0 334 127 29,110 690 338
11130 REN FREE 2159.0 [FRF0 124 127 14,492 13,343 1,697
EiRE2 AEN FReEE 173.0 [BBF0 44% 3F 11,927 6,141 1,588
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ARE K& FREE hERE D 312.3 [BRF0 374 118 1,247 852 174
=] XE FReEE P ERE S0 2250 |[BBF0 284 127 25,513 3,000 2,658
R XE g ERE S0 83.3 [HBF0 294 4A7 17,584 608 1,218
=R K& FREE HEE D 125.0 [FBF0 445 11F 43,568 9,555 3,331
XH# K& = B 75 E 1) 2083.0 [KIE 135 125 29,400 12,381 21,317
[IT]=] K& = B 75 E 1) 1534.5 [BBF0 324 12F 3,484 1,381 2,282
A# K& BE HERE D 486.2 |FRF] 284 8F 4,631 3,629 2,855
Bl K& = B 75 E 71 1341.8 [FAF0 354 11F 4,358 1,305 2,211
%A K& = B 75 E 1) 17470 |[KIE 155 10F 3,872 424 2,094
AmE K& BE ARE SR 600.0 [ABF0 154 128 4,490 3,268 2,671
ENT] = = ELXBE PSR, BAEEAH 2409.0 [FRF0 294 7H 79,520 7,800 36,749
ENE] XE E$:3 B 75 E 1) 578.9 [HBF0 434 1A 4,367 2,326 2,106
5 K& E$3 B 75 E 1) 553.7 [EBF0 164 9A 1,288 244 739
TR K& FREE PERE D 11470 [RBF0 13% 128 2,936 2,252 1,067
RHEM K& FREE EF*B%M%J 7700 [BBFD 29% 128 1,065 515 355
5B K& = BI7EE A 2301.2 [FA%F1 114 115 14,121 5,030 3,436
L K& HE Elisc:ﬁﬁEt!*BMﬁ%f‘% 4710 [FBF1 39% 65 40,000 10,000 7,707
BE K& E$:3 TKERAE () 73.0 [BBF0 364 3F 75,000 7,000 6,778
=3 = ES:3 BI7EE SR 735 [BBF0 18%F 47 65,065 - 78
L = XN TKERAE (FI) 14 [FR 15 78 2,260 41 9
N K& Al R TKERAE () 6.1 [FBF0 36%F 3F 3,313 - 13
E- 3] K& K& B 75 E 1) 24520 [FAF1 185 125 9,392 2,411 -1,869
5 K& xE B 75 E 1) 4632.3 [FAF1 145 35 9,470 2,631 -2,335
ESEII0 K& E$:3 B 75 E 1) 114.2 [BBF0 205 6F 589 114 275
#= K& [EE BI7E S SR 54.0 |ABF0 52% 118 803 598 582
At K& 5# PERE D 163.3 [FBF] 13%F 97 276 76 59
BiEs KE =B P ERE SR 106 [KIE 8% 38 39 39 39

& K& RA ET M 339 [HBF0 104 127 215 - 73
=B K& 5% KE R 264.9 |BRF0 52% 3B 173,500 13,800 4,201
BRI 1| K& = KE R 55.1 |FEAk 8% 118 61,000 6,000 2,104
BRI AE B 7] ;'Jm&ﬁ 81.8 ['Fik 3% 37 48,000 4,000 1,182
BE x x FERE N 900.8 [RRFN 4% 128 2,876 - 867
x1E x x Elisc:ﬁﬁEt!*BMﬁ%f‘% 504.5 |[BBF0 46% 61 80,000 15,000 15,419
REEZ x x FERE A 514.2 |BRF0 46%F 21 4,354 - 410
20 x ZH EF*B%M%J 7.7 |[BBF0 535 9F 11,088 - 257
B x B 5B B MoK EER 51.3 |[ABF0 38% 3K 19,363 902 262
BA x x1E PEED 667.2 | KIE 15% 3H 972 - 721
(D] x i3 P ERE SR 768.0 [BBF0 94 11AH 2,213 - 780
5] x 5] BB ERAR 26 [T 9% 3F 251 29 2
Ki# x Ki# BB EZERAR 8.9 [ERk 125 3F 644 65 21
EN ] FA=1G30 B R 1.6 TRk 125 8E 280 52 24
IiEE BHEE # TKEREAE () 6.9 [BBF0 584 2F 3,047 45 42
Ll = 1B KB R 2545 |[FEpk 205 4H 660,000 26,000 1,045
A AH AH HRIE S 3B E AR 200 [Fpk 215 7F 11,600 800 19
KEF AEEE KEFI EHELAE 31 [T 145 3F 770 140 14
[EET [T [ EEERE T BHER 1.3 [FRL 195 35 470 30 3
=111 P} BRI ZRELTAE 6.0 [FR 105 3F 1,560 200 13
Bl P} kR KB AT &R T 2 i &R 179 ¥Rk 145 25 2,800 19 9

# ] EH BHKELTERBE 189 [FRL 135 128 5,600 480 26
Z2RBRAKX iT] ZRBRAKI BIFEE SR 13.4 |BBF] 4745 12F 19,435 418 671

ot Ny LWE ) BWKELLEERG 49.8 [IAF0 615 OF 18,860 980 472
pIIE: N HEN BWKELLEERG 60.6 |TFAk 3% 3H 9,280 1,100 457
L] N B BWKELLEERG 19.2 [FA%F1 264 115 8,675 296 221
HiE N HEHE BWKELLEERG 38 |Fm 1% 11E 13,500 200 91
ER I HERI EERECEFT 6.5 [lBF0 574 3F 11,120 120 194
X o) Esto]] BHKELTERRE 114.8 [BBF0 484 9F 27,750 1,050 2,233
ERS o) ERS BHKELTERBE 38.8 [HBF0 374 5AH 25,650 1,050 714
=) NEEE TN EHE 55.8 [EBF0 314F 127 1,526 1,526 1,387
[N NEEE hEEE)I JLREE SR 421.9 |BBF] 43%F 5F 4,100 1,400 583
L% NEEE EE EHEL AL 42.3 [IB#0 51% 3F 11,300 1,700 775
LN NEEE 52 EHEL AL 70.7 [BBF0 324 11F 58,806 3,500 3,450
B NEEE NEEE)I EIRG 191.6 [FBF0 43%F 55 9,735 209 350
BT NEEE =1l EHELAE 311 |FR 15 3H 10,200 1,300 290
AfE NEEE AfEE ) EIRGFE 96.8 [ARF0 43%F 51 917 477 811
[N NEEE A E ) EIREAFM 142.7 [FBF0 43%F 55 900 244 631
il HE HE PSR + B A 102.0 [FBF0 314 3F 30,800 2,400 1,188
N S]] N MILE R + B EE 12.6 |BBF] 504 1F 3,500 250 88
+R = oIl EEEE T BHER 21 |Fm_ 8% 3F 2,200 100 20
XH =R pNEI] EEEE T BHER 6.3 |FRL 104 38 1,100 50 13
| E#E T = EsT I EERE T BE 4.1 [BBF0_50% 38 1,300 100 31
= = =L EEE S T BER 1.7 Rk 115 3B 1,300 50 7
AR = AR EERE T BER 51 [T 125 3F 4,050 150 25
21 L) il BIFEE SR 5.2 [BBF0 484 11F 33,387 112 -1,003
B hid XR EEERIL] 135 R 4% 108 9,604 499 0
AH H AH BA7EE SR 16 R 4% 108 10,147 61 -46
18 o= REF BIFEE SR 306 [ABF0 154 118 1,113 - 848
IE o= REF BFE S SR 111.4 [BBF0 124 9H 1,137 - 608
— 3% o= ATy %Jﬁﬁﬁ%w 356.0 |ARFN 364 128 39,081 7,103 11,517
MR o= BN} EFGEEA 102.0 [FBF0 404 8H 10,909 983 1,108
B o= RS Elix:ﬁﬁ:&&ﬁﬁ%f‘% 82.9 |HBF0 334 3AH 23,300 6,000 2,976
AE o= BT EIRG R 456.0 |FBF] 35%F 9F 113,893 7,588 12,970
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HERE XiE #%dt ERERES 180.0 [FBF0 344 3H 1,381 386 661
KiEllE— XiE KiE AMEF () 941.0 [BRF0 36% 31 8,500 2,139 2,235
B RiE Kie M\H%ﬁ(ﬁ:) 13736 [BBF0 74 38 12,464 2,340 2,770
#&dt XiE [EE8 EIFIE S BEE 148.3 [FBF0 35%F 7H 21,300 1,800 3,909
E=F | KiE E=F Emﬁﬁﬁiﬁﬁ%ﬁ 354.0 |RRFN 42%F 78 57,000 7,000 7,557
#&m KiE XE IR R+ BEA 87.0 [MBF0 33%F 45 38,000 1,300 1,712
iy:] KiE IEH iR R+ BEA 44 [F 105 45 720 100 49
iR RiE szl EiT 430 |Fpk 9% 128 5,100 1,300 258
BLE YT Al RIG2 + A 03 [Fp 9% 108 133 11 1
FMA % &R KERHE 51.0 [BBF0 534 5AH 18,000 2,000 404
R % gk )1 NINE F () 60 [KIE 115 7F 1,858 - 472
TE % TN E+ 3B EAMME B 185.0 [FAF0 484 3F 59,300 7,000 4,115
N % Bl E+ 3 BEAMME BES 491.0 [FAF] 485 35 54,600 7,500 3,527
pad]l] % MNERI TKEREAE () 30.0 [HBF0 474 8AH 25,326 1272 431
A % AKX Sifith 45 [BBF0 45% 37 1,196 94 53
B % [0S 12 R B MoK E S 42.0 |BBF0 634 3H 7,660 960 277
®’H % ik AMEH () 14400 [BBF0 29% 5F 4,050 200 59
[ITE:] % I 12 82 B 9.1 [IBF0 55% 3F 2,980 180 90
&5 5 &5 RIS T AE 1.8 |ARF] 614 35 600 60 10




5 P RIBER BRIER BEKEE WHEE HRE
FLE i AN kbl (km2) (Fma) (Fma) (Fma3)

= 8938 8938 EI5 8+ A& 35 [IBF0_60%F 3F 550 110 9
fhE XHt XHt RES LB EX 41 |Fp 3% 2R 1,135 85 14
1T B HF AR B T AREEL 56 R 105 3F 1,640 120 25
TEREE PN HR RIBETAE 1.3 |AR%0 624 35 1,090 40 16
g AR AR 2R 8 B HEER 275 [RBF0 41%F 35 6,000 440 422
L £ EES RIFE T AE 1.3 |BRF0 49%F 3K 330 28 23
E=Eai &S J\HI AR+ A 3.9 |Fm 5% 3F 1,200 70 4
J\H J\H J\H AMEH (#E) 0.6 A1 48% 5H 150 50 18

E NE \E WhERAHHHEX 16.0 |BBF] 574 3F 2,103 173 103
2R BFE XM A BT REEE 18.2 [FlBF] 514 3F 4,100 370 99
¥ EE ¥ RNB T AREFEER 100 [FB%] 615 3B 3,520 400 85
150 [YAs] O RIG2 + A& 03 [ 115 38 269 6 1
KNI KNI KNI REARETAE 574 [RBF0 48% 78 6,300 1,200 502
L &Ll &L RIFE T AE 7.7 |BA%0 514 38 728 92 35
=l E¥a: 1] =l HiKT 235 |[BBF0 484 47 8,500 376 245
s A8 Ny El MBSt B R 45 [BBF0 524 5A7 2,200 55 50
EJN EJN EIN]] Ea¥FH 6.6 [[BF0 55% 3F 2,098 131 50
oy At FE/RI +=FRIMFER 105 [FB%1 624 35 2,207 190 50
EIGE] FSd ZERII 1= 82 B 84.3 [IAF0 355 3F 27,900 2,500 1,235
Mg #% #xJ1 ERARRSERS 3778 |BRFN 45% 3B 2,496 413 432
E=3101 #% #&)1 BB ENMNEEED 359.0 [ABF] 46% 3A 46,000 10,800 6,661
xE #% KR REAR IS 2 PR oK 2 B 14.7 [BBF] 455 3K 1,661 321 178
& A 7R EBEE T+ SYKRER 21 |Fm 5% 5F 1,390 80 37

Il A Xl NINE S () 1.0 |BBF0 614 125 3,270 23 158
Rz)IA KiE KRR Fi il 51 [T 215 9F 6,270 260 6
IR HiE IR R 158 £ KER 27 [Fm 18% 3F 2,010 90 2
#BEXA BRI IS 1512 + ARER 24 |FRL 205 48 880 80 0
=R Rl Rl I3 I8+ ARAR 03 [k 205 37 187 8 0
25 N N B IR+ AR AR 1.7 |FR 13% 38 510 40 22
EERE PRI SFI SRR+ AR AR 05 [Fpk 175 38 273 23 -4
Pty EEECPNI] EEECPNI] BN ESEER 109 [k 175 35 19,800 600 80
=] TR TR PRRAEER 22.5 |BBF0 584 3AH 18,600 1,200 399
IZ A TR ZEA PRRAEER 8.9 [lBFN 58% 3F 3,050 500 9
EE Xl Xl PRRAEER 76 R 54 3F 8,200 400 93
Y BB =R AR IR+ AR AL 48 [BF1_ 58% 3H 2,300 200 107
ER =R ER RIS B K EEAR 50 |FR 4% 11F 13,000 150 151
Eill} il Eilll PRRAEER 74 |[BBF0 524 3F 1,650 400 73
= H a8 SHEI AR IR+ AR AR 47 | 8% 37 7,100 200 77
& B @Il PRBAEER 32.0 [HBF0 494 118 55,000 3,000 865
DEHE BHEN DEEN PR AEER 8.1 [BBF0 634 3F 4,500 500 23
AR AR PESI SRR IR R A OK EEER 35 [ER 115 1F 3,970 150 61
BEER HEEXI HEEXI RIS R MK EER 42 [Fpk 18% 1A 1,470 210 5




